Quiz 14

1) Partner opens INT and RHO passes
Using Transfers what do we bid with these hands?

a KJ1054
v8

¢ 932

« KJ72

a KQ743
v Q8

¢ A73

& 1092

a QJ9542
v 9

¢ 876

& 62

A K10943
v KQ3

¢ A82

% Q8

Assuming the auction starts with a transfer to spades and partner bids 2a what do you bid next?

INT 2
24 ?

2) You open INT and partner transfers into hearts by bidding 2.

INT 2
24 ?

INT 2
24 ?

INT 2
24 ?

You remember to complete the transfer, and partner bids 2NT. What is your next bid with these

hands?

s Q743
v KQ4
+ A852
%12

INT 2e
2v 2NT

SBU 2020

A K43
v QI87
* KJ32
% A7

INT 2e
2v 2NT

a KQ42
v Q9

+ KQ76
% 1075

INT 2e
2v 2NT

Lesson 14 (quiz)

a AQ63
v J5

* K82
& A1093

INT 2e
2v 2NT



